U0 RO 0 R Ot 35213/B 130/42202/B 020

Reg. No.

II Semester B.Sc.3/B.Sc.4 Examination, May/June 2018

KANNADA (Basic)
&S, FTOR0R — I
Time : 3 Hours Max. Marks : 80
RS : X S0 womE wgﬂ o5 3 ERBROY L.
89N FEpiert wugono.
L a) w36 aba) Hrimedsodr) egbamtied 33 SESnvd Serf A0RLAmRE. DFORD. 15
LT
b) ‘R 7’ "33 Beed” oI, Boue- R !’ ARNTO,A0ES 7,33 HFOKO.
2. a) &I ﬁo*‘»a)a T WEBRY, BRI WHBHOUTIR) 133D, 15
(Z16s0vp)
b) 3von cxnrE Fo30 eBneEd ToBIFS BrodT WD) 1330,
3. deeon s, eid wdowo. 20
a) YR wIIoW M- LR,
b) wR=ReRSs SdInied.
C) 3redd.
d) 50
e) Fu'mood’
f) de.
4, Jdemd =ece RoTr BRBS RsgoRe. 15

a) DLBITYE o Heatho 03 HROIRYYD* WET”.

b) wledaeS geor AR,

C) 2R IReRTTIR I Enewne,

d) “sos8=odn, ASRRH FoWT Fewad 9"

e) YT odbe €9, 000 Ty qw%wq QBREPAT T,
5. woddt B wu30RDd. 15

a) ‘8ROFpee 3 HNS SRR ?

b) emeRoried; cdndd ?

C) BRRTTAS VT CIRFT0 ?

d) ‘33@a 8ra,’ ombd cdRs) 8503038 ?

e) tieotdodnt SOSIIT e BROE ?

P.T.O.



35213/B 130/42202/B 020

f) ‘303 wmnew 2133 cns PPy Bedes ?
g) ‘3 Beed 8RS iR Rogosten SOIERY TN ?
h) ‘I,@ond’ 33 83 BogoRT 3 cdndh 9
1) 53,0 Beode)d Socdodd> Bxed ?
1) ‘RER,Q BT 0ING LSBT 1 oFmNE 9
k) o000 Rwdroon’ 4=t Doesr SF0eRD 9
) ‘2.9 5oR03 0 20T ety SR 9
m) Fa* ob? IR BeBER 9
n) ‘ZobESF Somd CIRTR) IEH 2
0) mdddq# NoBEs B33exh 2

RO 0O 0




0 O OO 0O O 35212/B 120/42201/B 010

Reg. No.

11 Semester B.Sc.3/B.Sc.4 Degree Examination, May/June 2018
ENGLISH BASIC
Text : Vibrant English

Time : 3 Hours Max. Marks : 80

i

I1.

I

Iv.

Answer the following questions in a word or a sentence : (10x1=10)
a) Who is the Police Superintendent in the story “A Chameleon™ ?
b) How did the Lantin’s wife die ?
¢) What are the bondages of the soul ?

d) Where was Mangal Singh posted on duty ?

e) What does the Sun consist of ?

f) Where did the speaker follow the fisherman ?

g) Who wrote the poem “Telephone Conversation” ?

h) How many were dead in the war ?

i) Who has taken the photograph of the poet ?

j) What is the theme of the poem “The Emperor of Ice Cream™ ?

Explain with reference to context one from prose and one from poetry : (2x5=10)
a) The earth was of a globular shape a ball floating in space.
b) “You eat the bread of illegality”.
¢) Long and lean, her ears were cold as rubber.
d) “Madam”, T warned,

“T hate a wasted journey — [ am African”.

a) Sketch the character of Monsieur Lantin in the story “The False Gems™.
OR
b) What is “Unattachment” according to Vivekananda ? Explain. (1x10=10)

a) Explain the problem of racial discrimination against Africans in the poem “Telephone

Conversation”.
OR
b) Explain the devasting impact of war on human beings in the poem “The Diameter of the
Bomb”. (1x10=10)

P.T.O.
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V. Write short notes one from prose and one from poetry :
a) Mangal Singh.
b) Otchumyelov’s character.
¢) “Hunger” —a symbolic poem.
d) “The Emperor of Ice-cream” a poem of contrasts.

VI. A) Write mes'}lnonyms of the following words :
i) Carry.
i1) Glance.
- 1ii) Solution.
iv) Shade.
V) Attract.
B) Write antonyms of the following words :
i) Damage.
ii) Frolic.
i11) Establish.
iv) Evaporate.
v) Vast.
C) Frame the “Wh” questions so as to get the underlined words as an answer.
a) Shakespeare wrote Hamlet.
b) Joan’s father was a farmer.
c) Bombay is the biggest city in India.
d) Bread was dear for the Shoemaker.

e) They go to the college by bus.

VIIL. A) Draft a short speech (any one) :

i) Women education.

i1) Plantation.

iii) Anti-social activities.

B) Draft an advertisement copy for the sale of :
a) T.V.
OR
b) Soap.

(2%5=10)

(5x1=5)

(5x1=5)

(5x1=5)

(5%1=5)

(5%1=5)

C) Write a letter of application with curriculum vitae in response to the advertisement that
appeared in the Times of India for the Post of Accountant in TaTa Industry, Bangalore

(5x1=5)
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Lal Bahadur Shastri was born and brought up in poverty. He role to high office of Prime
Minister. Even as Prime Minister he was very simple in his dress and food. He worked for

long hours even at the cost of his health.
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IT Semester B.Sc.3/B.Sc.4 Degree Examination, May/June 2018
MATHEMATICS (Optional)
Paper — I : Differential and Integral Calculus
(Regular and Repeaters) (w.e.f. 2014 — 15)
Time : 3 Hours ‘ Max. Marks : 80
Instruction : Answer all Parts.

PART - A
1. Answer any ten of the following. - (10x2=20)

- 0
a) For the cardioid r = a(1 + cos8), prove that ¢= g bz

b) Find the Pedal equation of an equiangular spiral r = ae®°%,

c) Find the length of polar subnormal for the parabola = 1 - cosH.
r

d) Find the radius of curvature at any point on the curve s = alog {tan (% + %)} :

‘€) Define the terms :
i) curvature
ii) radius of curvature.

f) Find % for the cﬁrver=a(l — cos0).

2
g) Show that (l)g];,) 50, 0)-x2—+§—2 does not exist.

dz
h) Find T when z = x%y + xy?, x =at?, y = 2at.
t

40 4
i) Ifz=1og[x =y Jprovethat x2+y2=3.
x+y 0x "0y

; a :
j) Find the envelope of family of lines y = mx + — where m is a parameter.
m

k) Find the reduction formula for J'x"ea"dx where ‘n’ is a positive integer.

I) Evaluate |sin’xdx.

Ot—.‘NI:‘

P.T.O.
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PART - B
Answer any four of the following. (4x5=20)
2. Show that the curves r™ = a™ cosm@ and r™ = b™ sinm# intersect orthogonally.
3. Find the radius of curvature for the cycloid x = a(8 + sin8), y = a (1 — cos6).

4. Find the evolute of the parabola y* = 4ax.

5. Ifz=e**" f (ax — by) then prove that bg—z+aa—Z = 2abz .
X

oy

2 a2
6. Find the envelope of family of an ellipse x_z +Z—2 =1 where a and b are connected by the
a

relation a2 + b2 = ¢2,

7. Find the reduction formula for I cos"x dx where ‘n’ is a positive integer and evaluate
J'cos“xdx.

PART —C

Answer any four of the following. (4x10=40)

8. a) With usual notations prove that tan¢ =r %g :

x2 y2 3 > . a2b2
b) Show that the Pedal equation of the hyperbola —-— b—2 =lisr =a*-b"+
a

p’
(2 +12 )%
9. a) Prove that the radius of curvature for the curve r =1 (0) is

> +2ri-m, .
11
b) Find the radius of curvature for the curve \/; + \/; =1 at the point (Z > ZJ
10. a) State and prove Euler’s theorem for homogeneous function in ;(, y of degree ‘n’.

oH oH OH_,
ox 0y oz

b) IfH=f(x -y, y—z, z—Xx) then prove that

11. a) Find the intervals in which the curve y = x* — 6x* + 12x* + 5x + 7 is concave upwards or
concave downwards. Also find the points of inflexion.

b) Find all the asymptotes of the curve x* + X’y —xy*’—y*-3x—y—-1=0.
12. a) Find the reduction formula for Ixm(logx)“dx where m and n are positive integer and

evaluate jx3 (logx)* dx.

4
b) If I = Itan"xd_x , then show that | +1__, = Ll and evaluate I,.
n F—
0
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IT Semester B.Sc.4 Degree Examination, May/June 2018
: CHEMISTRY (Optional)

Time : 3 Hours Max. Marks : 80

Instructions : 1) All questions are compulsory.
PR : S, YIS 00N,
2) Answer all the questions in the same answer book.
QR LT 2uodde LVFT PTFD wdad.
3) Draw neat diagrams and give equations wherever necessary.
VT, DGR ST 13 VR T THTODIE T eFTrony) ERR0.
SECTION — A
- A
1. Answer any ten of the following :

UNSYNUY, ciRYTRTcR 38, LUIOR0.
a) What is hybridization ?

B, W), BEFOLOTRY, 330,809, 00.
b) Calculate the bond order of Nitrogen molecule.

R, e ©rD wog Dosd, oY TEFoso.
c¢) Draw the molecular orbital diagram of Helium molecule.

He, — atnden,oof s8ob 13,33 ward.
d) Write the structural formula of Oxine.

o8 DS a0 Seddod mguagt WBCWO.
e) State Saytezaff’s rule.

Kessredant S QabROTRY SOKD.

(10x2=20)

f) Mention the electrophiles generated during nitration and sulphonation of Benzene.

tIoB0eRT § H B [0 Aedres §,03onv, eu3odnndm /SR e e RYR) SHoN.
' g) How are alkanes converted into alcohols ?

LIV sdpe@nee’ o Bert TOBSFRORT ?

h) What is Joule-Thomson effect ?
RO -HodR' WOmIROFoTTed ?

1) Define Parachor.
30, 00300 330,85, 0, ER@D.

P.T.O.
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J) What is refractive index ?

O, 357 ROTWE* 0TTERd 2
k) What are liquid crystals ? Give an example.

3,3 BEBITontesd ? 2,00 LUEIR 3080.
1) What is meant by Miller indices ?

S0QU* 25, 0BNEL 0BT 2

SECTION - B
en— B

Answer any four of the following : (4x5=20)

NIV, cIRFYTOTHR TOE EUZ00.

2. Discuss the shape of H,0-molecule on the basis of VSEPR theory.

2eos (H,0) eenas Suidodsy VSEPR AT08T e 33FA0.
3. Draw and explain the molecular orbital energy level diagram of oxygen molecule.
UEIF 600 BndEn, oot oD AT, € 18,3 I SO,
4. Explain the following in brief :
i) Ozonolysis of 2-methyl-2-butene.
ii) Hydroboration and oxidation of alkenes.
s¢nasme:rq HosToN D[RO,
i) 2-avegyer ~-2-20), 836" L OIRCTOORA’.
i) eOeons & e, erindeds w02 wedess.
5. Explain the mechanism of nitration of benzene.
eI0DP'S §E3, e35° 8, 00d 8,03% 208,33 ITORD.
6. Derive Kirchoff’s equation.
PR xaoeﬁcitaamgi ACRLXD.
7. Explain the determination of surface tension of a liquid by drop number method.
B2, JOWT* GRS00T 3,8 Bed | Z93 FOBILBOINYTRY JFOXD.
SECTION - C
e - C

Answer any four of the following : : (4x10=40)

FINSYFd) cdnYmmte TOF SVZORD.

8. a) What is hydrogen bonding ? Explain intermolecular and intramolecular hydrogen bonding.
BWORTT WOTI Q0BTE 2 woTe BENTY, THF wied 2ied eraony TRV LVoLRNIE HORTT uoz;SaSaSaig‘
DFOR0.

b) Give the advantages of organic reagents over inorganic reagents.
RSO TTTED AT TITIAINCE Fert ST 2
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9. a) What are alkadienes ? Discuss the classification of alkadienes with examples.
BOZ AWET’ DOTTERD 7 ST TEEBT’ LUIRTTRCIRONN IFAD.
b) How is benzene converted into m-bromoaniline ?
3odea* ), M-uiR,HeROT® &N Bert TOTSFRODO ?
10. a) Write a note on Joule-Thomson experiment.
WA -FORIF® T,03Rena wif L35 ed wScdD.
b) Refractive index and density of benzene were found to be 1.497 and
0.873 gm cm respectively. Calculate specific refraction and molar refraction of benzene.
(Given - molecular weight of benzene = 78)
00T FE,epWY FRwWo, 08 DY 0w, TN ¥, down 1.497 oy
0.873 m,0./5.3.20¢. T8, BT MWIeq, =8 T wB) 9ra0538, efRINGSY TgHe0.
(=2: Loopes's Snde),ovf g = 78)
11. a) Derive Bragg’s equation.
W, VS ROEFTEITTY DTULLA0.
b) What are emulsions ? Explain their types.
T,00WSNTOTTED 7 SN T Fo0NFRY, DTWORO.
12. a) Discuss the mechanism of Friedel Craft’s alkylation of Benzene.
WoaPS'T B BT 8F ST’ 3003, 0D, WeFA.
b) Derive Joule-Thomson coefficient.
VAT -FOF* FREBTEITIT), THRO.
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Il Semester B.Sc.3 Degree Examination, May/June 2018
PHYSICS
(Optional Repeater 2014-15 Onwards Syllabus)

Time : 3 Hours Max. Marks : 80

Instruction : Use simple calculator wherever necessary.
RS : SFNI WBID, AT 7, € 8307 LIFR0.

PART - A
won- A

Answer any ten questions, each question carry 2 marks : (2x10=20)
Bems BL TINET QUZOR0. S TI 2 OB |

1. a) Give the principle of working of a Helmotz Resonator.
BEREET S0 S BUR IBF &R ST, A
b) What are transducers ?
@@%#@ﬁﬁoddeds ?
c) Write the Maxwell's expression for mean free path.
méa;d@} Wo0E RTIRO TR YVFODTY, LTCLD.
d) Define most probable and average velocity of gas molecules.
ST £9800NY 9EF0LIRVEOD Fer TP BTIRO WENNTR, WYTYR0.
e) Distinguish between the change in entropy of reversible and irreversible processes.
eméﬂdaséeom TOMR edoéemréeom $odndd wEReR, RBYAT DI BeP0.
f) State Carnot theorem.
TODOF 3 T0eOTETR, STZAR0.
g) Mention characteristics of an exhaust pump.
AeF B WOLS mwdﬁormfd& BeO.
h) What is Joule-Thomson effect ?
PR - TRRF’ TOFW QOTTEI ?

P.T.O.
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i) Draw the curves to represent distribution of energy in the spectrum of black
body radiation.

S plevta 2FTLO0T B D DBTFHOD BRE&WBHI, LG

j) State Wein's displacement law.
NI a;%oéd @oﬁoﬁadﬁi W, ETR,R0.

k) Find the increase in entropy when 1.6 kg of ice at 0°C melts into water at
the same temperature, if latent heat of ice 3.3 x 10° J/kg.
1.6 kg bowondd 0°C 8 Qeven w0SF SrieoRs, &rie evEgedd 3.3 x 10° J/kg
DeOE), GV0ET R0ER, e TY TOBRBOND.

) Calculate the amount of energy emitted by a black body at temperature -
3000 k. Given : Stefan’s constant =6 x 107 SIU.

g%faowaod 3000 k w%éobq aradaraaﬁa%aﬁ JEoD ab’aegsdd.l BOTRIEROWD.
033 : AFOR” 4008 = 6 x 107 SIU.

PART -B
won-B

Answer any four questions, each question carry 5 marks : (5x4=20)
Weon moe), FIRen vu8dRd. B3 TIR5 wosntd:
S P =

2. Explain the principle and working of moving coil loud speaker.
BORIT BT qgsadc,ﬁrﬁd :‘Séa TINR @obraﬂdgl WRORD.

3. Derive Clausius-Claperyon latent he'at equation using Maxwell’s
thermodynamical relations.
SRFIS BEACE, RAFTLNOOT, TRACDA-BLOIRS TOTRERT ROEBTEDDS
CUBGRD.

4. Explain the construction and working of diffusion pump.
BT, BOLT B3N BN TODFBW) DTORD.

5. Calculate the mean free path of a gas molecule if the number of molecules per
unit volume is 3 x 102 and diameter of the molecule is 60.6 x 10° m

2,003 P Q03T° BTG 3 x 10% eﬂmﬁ@da dxab DS 90N R 760.6 x 10°m
STV LV WOTTFD BOTOEEBOWD.
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7

Calculate the change in entropy when 0.025 kg of water at 0°C is converted
into water at 80°C. Given specific heat of water = 4.2 x10° SIU.

0.025 kg 3, 0°C evagdonos, 80°C vadrt Deoon HomsrscIngd aa
BERHTO YLOET WHDHTH FOREERONR.

B8 : DeOT MBREE = 4.2 x10° SIU.
At what temperature, a black body will radiate thermal energy at the rate of
10*W/m2 ? ¢ = 5.7 x 107 SIU.
IR GVFFODY 20T Ty FOD) T AT 104W/m?> 302083 030,
BRTBRRORT. B8 : ¢ = 5.7 x 10 SIU.
PART -C
wan-C

Answer any four questions, each question carry 10 marks : ~ (10x4=40)
esot Fow), BINOR wuZdRD. B8 TI 10 Lozned:

8.

10.

145

12.

Give the theory of Helmotz resonator.
BERLET SROTTIE ATBOSBR), DO

What is Brownian motion ? Give Einstein’s theory of Brownian motion. (2+8)
RO WOR 0BT ? LFOIODTT WO RO WIRIT'D A0S RO,

State Carnot theorem. Obtain an expression for the efficiency of an atto

engine. (2+8)
TRV E3° TROODBR) TATIN0. SR, NOWI'T TSN YVFO) LSS0

Give the theory of Porous plug experiment. Discuss the experimental

results. (6+4)
ZpeOR* BN Fodeena ;bw%oa’ BRR0. 83 ToIRNT POTOBNIR, BUFAD.

Derive Plank’s law of radiation. Discuss the relation of Wein's law from

this law. _ (5+5)
DT DT QOTOB), GVBZRD. TOF'S DOWEROT QETF, VOTT
#ouodd&c{m&r&
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I1 Semester B.Sc.3 Degree Examination, May/June 2018

COMPUTER SCIENCE (Optional)
(2014-2015 Onwards)
Data Structures Using C (Repeaters)

Time : 3 Hours

Instructions : 1) Answer all Sections.
2) Draw diagrams wherever necessary.
SECTION —-A

Answer any ten questions, each carries 2 marks.

._.
g

—
T’".o.‘o?".\’?’\f":hf*"!\’!"

Define pointer. .
What are the different memory 4llocation functions ? List them.
Define recursion.
What are the different types of operations performed on data structures ?
Distinguish between iteration and recursion.
List out the applications of stack.
What are the different types of queue ?
What are the disadvantages of linked list ?
Define node and header node. -
Define binary tree.
What do you mean by depth of a tree ?
What do you mean by a file ?
SECTION - B

Answer any five questions, each carries 4 marks.

13.
14.
15,
16.
} %

18.
19.

Write an algorithm to compute factorial of a number using recursion.
Differentiate between static and dynamic memory allocation.

Explain Binary search with an example.

Write an algorithm to PUSH and POP an element into a stack.

Convert the following infix expression to prefix and postfix expression :
1) A+B*CpD

2) (A+B)(CHE)

What are the different types of double ended queue ? Explain.

Explain complete binary trec with diagram.

Max. Marks : 80

(2%10=20)

(5%4=20)

P.T.O.
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SECTION-C

Answer any four questions, each carries 10 marks. : (4x10=40)
20. Write a C program to search an element using sequential search.
21. Explain error handling functions with an example.
22. What ate the applications of stacks ? Explain.
23.  Write an algorithm to insert and delete an element in a queue.
24. List out the advantages and disadvantages of linked list.
25. Define the following terms :

1) Root node

2) Depth of a node

3) Sub-tree

4) Parent node

5) Forest.




